Combined Graduate Level Examination 2021 Tier - |

Roll Number

Candidate Name

Venue Name

Exam Date 12/04/2022

[Exam Time 12:30 PM - 1:30 PM
ISubject CGLE 2021 Tier |

Section : General Intelligence and Reasoning

Q1 39 peq o1 79 oY o TR Ue @ I yeR Hafi @ S guvr ue uea ue A daia g
I

UPRIGHT: PUVEKTH :: DESTROY : ?
Ans X 1. EDWWUY

# 2. EDPXNYO
<7 3. EDWPVYO
/X 4. DEWPVOY

Question ID : 65497844386
Status : Answered
Chosen Option : 3

Q.2 T® fAf¥a oe UToT &, ‘PARK’ BT ‘3749’ F U A Teds [odl 9IaT 8, 3R ‘RACE’ B
‘4762' I U T Feag [Har oirar & 1 3 U § ‘CARE’ B 4 Teds fhaT STe?

Ans X 1.6724
 2.6742
X 3.7642
X 4.7624

Question ID : 65497842873
Status : Answered
Chosen Option : 2

Q.3 ura fie g, fife, Sem, famme, aftwn, ou ok Afaw, e a 99 & uRe:, 59 5 31
3R vt fe Peeb 38 &1 Yol iy &t it 8iik St avrar § 941 1 Afve 3fik ou fazma
Y 9l a1 grfY ok S avra § 7Y 39 ¥ R, i ¥ o R = R Sor e\l m,
e =t oY 8k i T A 931 21 e Pt gl ofiR R /A WP 33182

Ans X 19[4
< 2.%ad
XK 3. afger
K 4Py

Question ID : 65497842574
Status : Answered
Chosen Option : 4




Q4 s zhor 7 Frifea T & 3EWR 'AB' W @ T &, & & 7§ anghy & ador F ffie wd st

T 9T W
A
by
R
3
B

Ans

Question ID ; 65497842587
Status : Answered
Chosen Option : 3




Q.5 Mﬁﬁ’ﬁﬁ ‘J-ITﬂTﬁ', 'so it be" @1 'lor kor nor’ %Fﬂﬁﬁl@mﬁ, ‘it is done' @1 'zor
kor tor' %wﬁﬁmm%, 3R 'be yourself’ I 'nor xor' ﬁ’l@TGﬂ?ﬁ%I It HT H 'so”

Y Y forar smem?
Ans X 1.xor

X 2. nor
7 3. lor
X 4. kor

Question ID : 65497843985
Status : Answered
Chosen Option : 3

Q.6 = sgfon F s & UF T W OASS 7 FA (A Q) aeﬁmm%aﬁtg%‘g‘vm
Fr e H1 Ry gl iid) @i 7 ¥ sw Rees 7 ww S g (i) F Y e d

wae fBear e 8l
.\") L/’ 1 ) z'N"E.;\!ﬁ\
‘ (-7 ! \_,r"r/;
(i) (ii)
Ans D & D‘ O
PO Ao
E]O DB
o N
VIS
N
2 .
O
_ mh
L A
O_ O
L L
X3 o OF _
B A
O O
~ 00
) ]
o~ 070
X410 o O
] O
Q0

Question ID : 65497842891
Status : Answered
Chosen Option : 2




Q.7 fou e famedl & @ S siaR-uHs P gAY ot FRufRiad «Raen & wyars fos () &
T TR T THell B

FCC, UFH, OIS, LLX, FOC, ?
Ans 7 1.URH
X 2.VSG
X 3.WTH
X 4.TRF

Question ID : 65497842666
Status : Answered
Chosen Option : 1

Qs @m@%ﬁm?ﬁﬁﬁmgﬁﬂﬁmMﬁuwﬁ%m%mwsn
[

28, 32,41,57,?
Ans 7 1.82
X 2.74
X 3.68
X 4.90

Question ID : 65497842678
Status : Answered
Chosen Option : 1




Q9 R v Rwewt # ¥ 37 gl & 9T F S T @ § weAaE fOeg (?) F T W I aedr

N
ﬁ(>§<:: | @"\' |

Ans Q
P

Question ID : 65497842584

Status : Answered

Chosen Option : 1

Q.10 3f&RT F I Ao BT Tg= B3 ot =1 &t 71 mar & fraa =l & wiie s o @
W IR 98 e o1 guf s

j_mb_a__u_b_adj_m_b_d
Ans X 1.ubdjmbjba
X 2ubmjmbuba
X 3ubdjmbuma
/4 ubdjmbuba

Question ID : 65497844638

Status : Answered

Chosen Option : 4




Q.11 T Tw IR sier-aggl & F N =l 71 foreft yopR A WU § ok U oriva B 39 S
SER-TYE BT TG B
Ans 7 1.CJQY

X 2. HOVC
X 3. MTAH
X 4.DKRY

Question ID : 65497843981
Status : Answered
Chosen Option : 1

Q.12 7O el & S Hel TUIoH &1 9a o3 Wl * Il &1 e ©u 3 95ad gu foy 1
THtHRur ) Heferd a9 G |

88*120%42*240*48*2

Ans X 1.x,+ = — +
S 2= ok x
X3+ + - =%
XKod = x + + —

Question ID : 65497842683
Status : Answered
Chosen Option : 2

Q.13 ?yﬁr@awﬂmmﬁﬁgﬁamﬁ%ﬁmﬁﬂaﬁﬁﬁ?mﬁﬁ-aﬁm

23+84+14x8-3=5
Ans X 1.-3R+
2. - SR x
X 3. +3R-
X 4.+ 3R x

Question ID : 65497842581
Status : Answered
Chosen Option : 2

Q14 it & 3w weaT & 9Aw H owe @ w1 Ay R v 39 3w ga wEed w9 @ alar g

A K1 ey, 3, afesTr
X 2. g, IMAF, SfgaEr

3. 9T, FaT, TH

X4 Qrepd T, IUTieh, aEdias TEATT

Question ID : 65497844407
Status : Answered
Chosen Option : 1




Q.15 T URGR A A TG B, C, D, E, F, G IR H I H, D P gHaldI S5 81 E, C P aga gl C
SAFFIIPAN YIS, S fF D F UM I HF B AR G B G PTF A FHEY 82

Ans X 1. fodr
X 2.
7 3.4l
X 4.9e

Question ID : 65497842573
Status : Not Answered
Chosen Option : --

Q.16 T TRIAB CD AR EFAB, AV T T U §1 C, E R 40 kg U B1 D, ER AR A
gmﬂ%sﬁ?c A%umgmur&%mmammm%lsqﬁ a?Fr TR Tl 2
ISP HR fpa1 82

Ans X 1.D 125kg
X 2.B50kg

X 3.B12kg
/4. A16kg

Question ID : 65497844397
Status : Not Answered
Chosen Option : --

Q7 5 e @1 S Y S & 9 G (X) F WA ¥ (T A Rty e )

(X)

Ans

B

m%

\/3~@
[

X 4.

Question ID : 65497844000
Status : Answered
Chosen Option : 3




Q.18 U fAfia He UMT #, ‘TANKER' ®1 'VCPMGT & =1 # frar wirar 8, 39 ©e Wi &,
'SOCRATES' &1 {6 wu # ferar srewm»?

Ans ./ 1.UQETCVGU
X 2. UQGTCVHU
/< 3. UQFTCVHU
X 4. UQETCWGU

Question ID : 65497844635
Status : Answered
Chosen Option : 1

Q.19 95 fawey g St Fadt wen @ St ver Wit 3 R ver g we, g sen
Taftrd 8 SR T3t S, uiudl Sen A Heaiia 21
3:17::6:?2::9:47
Ans X 1.38
X 2.34
7 3.32

X 4.36

Question ID : 65497842881
Status : Answered
Chosen Option : 3

Q.20 m@mﬁﬁﬁmgﬁqﬁm@aaﬂﬁﬁumﬁa(?ﬁmwan
[

82, 105, 136, 177, 224, 283, ?
Ans X 1.349

X 2.412
7 3.350
X 4.320

Question ID : 65497843990
Status : Answered
Chosen Option : 1

Q.21 I e fIved o7 Ta= o3 S 3T T v @ arfhe ok srdquf w A srafRud evar g1

1. SMATT TG
2. 5y gt

3. JATaT
4.3(TaR01 U
5. AT

Ans X 1.3,54,2 1
K 2.4,53,1,2
”3.4,3,1,5,2
X 4.2,51,4,3

Question ID : 65497843677
Status : Not Answered
Chosen Option : --




Q.22 w7 #r RweT wmgle 270° FAET gAW W 3R B 45° gfRomead gam W Rega & 7 wE sl
& WA g FATTer?

N

Ans

Question ID : 65497842886

Status : Not Answered

Chosen Option : --




Q.23 f3u MY HyFT iR el 3 eargd e U | I A gu % Bl § § i aeer w9 R,
o g1 g wdy 9wl @ Fe weiid gt g1, 3mueh a1 e @ [ Ry e Feesf A Ao
IR FYAT BT STV HRAVB 2/ |

HYA:

1.9 %o, i g1
2.4 e, wEE 2

3918 ft wmE, e TR

e

LTS +ft @, T 8 3
s ot are, 99 T8 B
1. $S |HH, Ba g
IV.3S WM, a8

Ans X 1. %ad SR |, 11 3R IV 3TER0 B &
X 2. %aq sH |, 111 3R IV SRR R &
X 3. %ad fsp | &R 111 SR R §
o 4. R FSEE 1, 10 SR IV SR Ra §

Question ID : 65497842676
Status : Answered
Chosen Option : 4

Q.24 80 cm =W T TF U W W Tow W A T X T er § AR BT 5§ 8 om ST T RO
qﬁﬁmm%nmaﬁuﬁﬁﬁmm%ﬁmﬁ:mﬁ;ﬂﬁmﬁyﬁm

Ans X 1. 28
X2 64
X3 32
48

Question ID : 65497842686
Status : Answered
Chosen Option : 4

Q.25 Wﬁmmﬁamﬁﬁmwﬁﬁﬁﬁﬁwmmmﬁcﬁ
T UyarS U (?) $ R R 81 THdl 8l
182419
789

81114
17214

Ans X 1.15
221
X 3.38
X 4.30

Question ID : 65497843994
Status : Answered
Chosen Option : 2

Section : General Awareness




Q.1 HARMAT AEARRNT (Camellia sinensis) a1 & 9101 T Giem 21
Ans 1.9

X 2. DIt

X 3T

X 4.5

Question ID : 65497842703
Status : Answered
Chosen Option : 2

Q.2 fFgfaRed d § o9 918 $Y= 98 2/8?

|- PTEP YRA H BI6] FT Jad 951 S 8l
II- 3RfYPT PP} Pt TP fP B
I11- ST | AfRTH A 1S TS 3RfPT {5 o1 IaTeT YR # fopan W 21

Ans X 1. %ad Il 3R I
2K 2.1, 18R
X 3. Pad il
4. Had | SRl

Question ID : 65497844017
Status : Answered
Chosen Option : 2

Q.3 fp af # HRA & AT FHU1 BT Fbel O SAIE § U RIS 84.2% T T U172
Ans ./ 1.2003

X 2.1991

X 3.2001

X 4.1999

Question ID : 65497842594
Status : Answered
Chosen Option : 2

Q4 3w oS &1 faane sita? arelt vgelt uRda Fa dF F82
Ans ;1. fafesm SrferaE

X 2. SrforT R

X 3. 1ifd difar

X 4. gd YR

Question ID : 65497844427
Status : Answered
Chosen Option : 2




Qs %ara?rzom P YR Rod 9% (RBI) Y Aifge Hifa afifa (vpe) g1 S 3 e e
”

Ans X 1.2%
X 2.5%
X 3.3%
4. 4%

Question ID : 65497842895
Status : Answered
Chosen Option : 4

Q6 faHaR 2020 F, e A iR fad Scurel 9 fase) &1 weplt 37 aren i &1

Tl 3 S T
Ans X 1. 90

7 2. R
X 3. faga ™
X 4. asad

Question ID : 65497842607
Status : Answered
Chosen Option : 2

Q.7 fufafed # & $19 ST T TS T (Q and A) & d@® 82
Ans ;1 9P @EY

X 2.9t difard
X 3. TS [T
X 4. 795 gd

Question ID : 65497842911
Status : Answered
Chosen Option : 2

Q.8 e AIGUITE STaR BT Uga AT T 4T?
Ans X 1. HRIGEN

2. Seree

X 3. frargd

X 4. T

Question ID : 65497844018
Status : Answered
Chosen Option : 2




Q.9 wpifdsr) Wird Rig @1 34 fpadt fauf §), 59 37 widt & 72
Ans X 1.30

J2.23
X 3.20
X 4.26

Question ID : 65497842909
Status : Answered
Chosen Option : 2

Q.10 fPmfifEd A A 59 ad 3 YR & Ul & TRie ik S99 IS Al & e siftferaw
ifva fear ar ur?

Ans X 1.1959
o 2.1956
X 3.1962
X 4.1947

Question ID : 65497842913
Status : Answered
Chosen Option : 2

Q.11 fafaf@a & @ S w1 991 9% = &8 Ut (main asteroid belt) & fRIG 82
Ans X 1. BT (Haumea)

X 2. W (Eris)

X 3. Bal® (Makemake)

4. 9IURY (Ceres)

Question ID : 65497844010
Status : Answered
Chosen Option : 2

Q12 PR & & @1 a1 g Frafe a1 gad = 3 @ R Rig omde & dia 9a ¥ R
TP B T DT &7

Ans X 1.7 @1 FEH
X 2. 3\ &1 fam
X 3. g @1 e

7 4. A &1 Fgw

Question ID : 65497844416
Status : Answered
Chosen Option : 2




Q.13 3fe 2021 9% P! R F AR, Frafeiaa & § o9 A 3iwifie 2021 ¥ e ergar
BTRTE BRA ATl UHHTT HRATG W1 SFR (A4l §¢ ST TYdie) 82
Ans X 1 fova g
7 2. AIRiER Rt
X 3.t AT
X 4. 4o AR I

Question ID : 65497842714
Status : Answered
Chosen Option : 2

Q.14 ﬁaﬁr@aﬁ@aﬁ?%mma‘w(sne)ﬁmwmaﬁ$w
ITURT B! T, TTeuffrd ST 3R Terar &1, ST o1 Wl ydem &A1,
WWWW 3R V-8RV B AT AR N RAfeaT B g B AT

?

Ans X 1. THSI6H (SDG) 17
X 2. TH3ISH (SDG) 7
X 3. TH3IS (SDG) 12

7 4. THSISH (SDG) 15

Question ID : 65497842900
Status : Answered
Chosen Option : 2

Q.15 fgg Iuwfer sifufaw, 1956 & foe af ¥ T e uria foeam war i
Ans X 1.2008

X 2.2010
7 3.2005
X 4.2012

Question ID : 65497842611
Status : Answered
Chosen Option : 2

Q.16 Prafifa & | B 1 9w TeT Iwsie STHts e & Fwfo ¥ Ry sugw T 82
Ans X 1. 3feam fiferm Agezs

2. St

X 3. ey wRepEs

X 4. e IR S

Question ID : 65497844418
Status : Answered
Chosen Option : 2




Q.17 IRPIE e THIY ToRTA & e 2ee A freiediz
Ans X 1. 98I

</ 2.5 1Te

X 3. 3He

X 4. HIaTR

Question ID : 65497842692
Status : Answered
Chosen Option : 2

Q.18 forelt 3w Y St Frer, I Rfér IR mardl & Th 9 YRT &7 S5 3N 3
IS Sa¥R & fore gy =it § Wary <1 Bgerdr 872

Ans X 1.¥gq 3MeTct
7 2. AT garE
X 3. SRS g HehHu
X 4. T8 &l

Question ID : 65497842601
Status : Answered
Chosen Option : 2

Q.19 famfifaa § @ fea wifdert o erfiqR a0 vsuz ama # el A Us Rt & wu &
FRwER far ar?
Ans 1. QT3 Ad &l
X 2.3 Rig
X 3. 3ig At
X 4. 3PP I G

Question ID : 65497842706
Status : Answered
Chosen Option : 2

Q.20 fomfafea & 9§ fow afgar ugaar A BRast 2021 & b Fait gAHe Siiar?
Ans X 1. gief afie

X 2. Sdldr gt

X 3. pidar &at

7 4. fa e

Question ID : 65497844432
Status : Answered
Chosen Option : 2




Q.21 HRA ¥ Gy F FufaEa § F fF i ey o) g &1 g & ar?
Ans X 1. 489 SR

X 2. 59af T=YT
7 3. 5691 Tl
X 4. 5201 TRNeA

Question ID : 65497844026
Status : Answered
Chosen Option : 2

Q.22 mﬁﬁuﬁgaﬁq@aﬂﬁﬁm&ﬁ, ﬁ‘\ﬁq?ﬁq'\qmm(gmwth rings) *
oz gRT st Saarg ok Saargdia gersit & Rels T A 3|

Ans X 1. UfagiRie- Sdarg fa3 (Historical- climatology)
X 2. 4y-Saag {37 (Geo climatology)
</ 3. A Slddig [EEIG] (Dendroclimatology)
X 4,99 S@arg fa¥M (Bioclimatology)

Question ID : 65497842696
Status : Answered
Chosen Option : 2

Q.23 nffe [qderor, 2020 F AR, AfYH TR & M 100 ¥ URA F e S5 82
Ans X 1. %8 T8

X 2.3a

3. TH

X 4.d=

Question ID : 65497844411
Status : Answered
Chosen Option : 2

Q24 mngr(mmwawaﬁv%(mmﬁumﬁmmwam
TTE?
Ans X 1. EIZd (Style)
7 2. K& (Rhythm)

X 3. HGHT (Movement)
X 4. B (Hemp)

Question ID : 65497844004
Status : Answered
Chosen Option : 2




Ans

Q.25 fPEfIfEd § @ o190 =l S & RAdware?

X 1. RfdeTy srgufyd gkt €

X 2. PIRGN IR-aR I St &
X 3. 3pTeie AT U 8id §
7 4. IR SR HING BId §

Question ID : 65497842599
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q1

Ans

AT a+b+c=6, CHPF+c7=32 g @+ +c* =189 ¥, & abc- 3 F AF TAETI

X1
X2 3
X3 2
4 0

Question ID : 65497842627
Status : Answered
Chosen Option : 4

Q.2

Ans

e X o 5 T4t A, B, C, D 3R E # Jamal 1 W& (AT /) AR IS Sed Jarst
TEIT (@ /) W R §

frw usw / frer Tt & ganat & wew, a usE & gaet & es e @ e 32

e
8
e

T FAEET (A H)
t
.-.-.-.-i.'t.- o

>
©
o
m

Question ID : 65497843545
Status : Answered
Chosen Option : 1




Q3 AsdRBaFmeXTYIYFXF QAT 390 a9 4% Nl TF g/ I F F a1, A #B

F A A & AT T A FA: 67 U W 8 W A qu mm A A Hraw 2 kmh E A B A
e km/h & 71 e

Ans X 1. D5
X2 21
V3 28
X4 30

Question ID : 65497842928
Status : Answered
Chosen Option : 3

Q4 R wram Redona T ST F 10T ST TUET H OTE & S & TST #aT gl
o A For FEAr 350 § AR FleT F Ui 200

TE F ITTT F{ 3T 3TF a1 T ¢ 927 FH 37 &

o ® o
e ] .
£ S
E »
CI ® 15
"] ]
2.0 -6 -2 -100 100-120 120-160 HO- 160 160-120 180-200
IF
TOTT T TS T FaT 3HAd (SUHIT & Tk TAF dF T &7 872
Ans  X'1.115.8
2 119.3
X3.123.7
X4.127.3

Question ID : 65497844053

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 2
(_1-“*9) 1 & AT AT FeT, I 00 < 6 < 90°

1—tanf

Ans 1 cot?8 —1
X2 gec?f+1
X3 sin?@ - 1

X4 cos? _ 4

Question ID : 65497842634

Not Attempted and
Marked For Review

Chosen Option : -

Status :




Q8 40+50f2x[18+6x (12— 9)of5— (3 —8)]+ 25 F AW AT M|
Ans X115

X2 7

/3 8

X4 4

Question ID : 65497844435
Status : Answered
Chosen Option : 3

Q7 o =& # Bl Sl & Rt FRieE (A § E) § 717 F a0 FAARAT @ ol T A AFHT
far ar g
FHAIE FT FA TG = 2400

—

BIE'
54 /
g Frew # FReIREr fr G 600 §7
Ans X1, C
2D
X3 A
X4 E
Question ID : 65497844455
Status : Answered
Chosen Option : 3
Q8 A3k B vF wEEE F R §1 A T G F 333 Fdw e g AR B 9 G Fder awer §

g T F 3T H T o T1,62,000 &, & B & fewww (X H) fraar gem?
Ans X 1.1,20,000

x2 1,12,000

X3 54,000

4. 1,08,000

Question ID : 65497842925
Status : Answered
Chosen Option : 4




Q9 A v w5 F 25% T, 15 fE F Q@ W TRAr §) 3HF 15 A g% w7 fFw AR By A9 w5 A
ey B 3 30 Reat # g fam A 3R B U @ e F FRE g0 36 HA F 50% o fhe
A & o sEr

Ans X1, 24
X220
3 12
X4 25

Question ID : 65497842624
Status : Answered
Chosen Option : 2

Q10 6 gfeal, 5t & wAw: 3, 4, 6, 7, 8 3R 12 ¥Fs & U W AN &, TH WA T YF FEA §
foraer Yo ¥ T, ¥ T T U AIY Feien?

Ans 1. 188
X2 186
X3 176
X4 167

Question ID : 65497844434
Status : Answered
Chosen Option : 1

Q11 = g ABCD #, 4C 3R 4D & waefese g E X o §1 3R 2CED = 57° 3K 24=47° §,
ar £B F AT TABTI

Ans X 1. 570
V2 67°
X3 77°
X4 470

Question ID : 65497842731

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q12 AABC #r 5=¢ AB 3T AC @ @aer: fig D A E A agmm amm §1 2CBD 3R 2BCE &
Az g P ox e §1 aft A =78 ° §, & 4P & AW & gem?

Ans X1 3
X2 6]1°
X 3. 55°
V4 51°

o}

th

Question ID : 65497842934
Status : Answered
Chosen Option : 4




Q13 0 &z 7 g7 F, THT TP ABCD & T g §1 A 3t C O ¥ St ser &1 afy 2ABC =
2p HR 2£4ADC = 3p#, A wREdr zAoc F AN (RAA) T FT

Ans X1 210
X2 245
X 3. 200
V4 216

Question ID : 65497844043
Status : Not Answered
Chosen Option : --

Q14 vw FEar A w12, gEEn B ¥ 22% & e} &1 g B, drady gEar C & 2.5% & @} 31 afE C &
A 5500 &, & A & 80% 3K B & 40% T AT fardem gem?

AN X 1. 48
X2 88
X3 75
/4 66

Question ID : 65497842721
Status : Not Answered
Chosen Option : --

Q15 Rig M 3k N v $ART & R § v @ W F FAM 72 m 3:&1—28} ﬁqﬁwﬁ!m;‘g_%
R 5 Rigst ¥ 37 3T & NS &1 50w BT T E 56 FARG A S (m A) T @7
Ans 1. 06
X2 90
X3 80

X4 84

Question ID : 65497844453
Status : Answered
Chosen Option : 1

Q16 Ffr a2+ 1% +49c2+18=2(b—28c—a) ¥, & (a+b— 7c) & AT Ta=TI
Ans X1, 2

v2 4

X3

X4 3

Question ID : 65497842931
Status : Answered
Chosen Option : 2




QA7 Zr argst A 3R B & w7 [T 51 g9 4 1 5 ¥ 39 TG 1 ATT TAY, GEEER F TG A W
10% 3R Fg B WX 20% T W g & R 3o g Aog # AW 480 ¥ TRy B AR A F ww
T @ &) & s P 32

Ans 1. 300
X 2400
X3 250

X4 350

Question ID : 65497842621
Status : Answered
Chosen Option : 1

Q.18 7 auf 1 Fer, SR Wi 99 e X F Y & wET @t &, of Redr T Y WYRoT ST,
TR & 1/8 97 fFwwr gt &1 15,000 & fow, 39 earer & W 8 Iul & WuRer @ (3 #) &
0T Tl

ans 15,800
X2 5,000
X3 5,250
4 6,000

Question ID : 65497844037
Status : Answered
Chosen Option : 4

Q19 AABC 3 £A=88" 3| 7y e & siadhs | §, & 4BIC & AT aamsv
Ans X 1. 56°

X2 68°

3. 134°

X4 112°

Question ID : 65497842632
Status : Answered
Chosen Option : 3

Q.20 IfE va 7irer & UG 39 & BT gy AT ¥ AAA F GUaT g, ar doleT wr e i Fad #r
T G BT

Ans X1.3:5
X2.1:2
X32:3
v4.3: 4

Question ID : 65497844653
Status : Answered
Chosen Option : 4




Q.21 G=ifera o =€ 2014 ¥ 2019 aF &7 WAT &af A T B & ATAifFa O H TT@ 1 g2
WME F CAFIEF HTAT AR 37 a R ¢ 92T w1 36w &

E 2014 & 2019 a@% FFK 39 A ¥R B ® Anwa O #1 §CT
&
ol . 280
E 230 210 =
20

5 200
= e w1 “ 180
o wo || om0
w || ) M | i
o &0 ! | ‘ | |

m | !
‘L:; | i ] i ‘ | |
< & i L L |
4 2014 2008 2016 o7 2018 019
F L
13

s FEUHTA 'Y B

2016 3R 2019 & fATTeT &9 A # AWiTRa oI # o 56, 2015 R 2017 # e 59 B F
ARG o H T wEm w1 faer gfeva 82

Ans X1 80%
V2. 64%
X3 75%
X4 60%

Question ID : 65497843141
Status : Answered
Chosen Option : 2

Q.22
AT 00 < g <900 F a1+ (20 moEAT ST

cotB—cosB

Ans 1.1+ sec@ +tanéd
X2 1+sec@—tané
X3 1—sec@+tané
X4 1—secf@—tan@

Question ID : 65497842936
Status : Not Answered

Chosen Option : --
% gfr 8A5146B, 88 ¥ Wam=w &, o B-A T AT FAT &7
Ans x 1. 0
X2 9
X3 =1
V4

Question ID : 65497842716
Status : Answered
Chosen Option : 4




Q24 70 3 90 ¥ & Hr Tl =T TEATHT W siEa w7 EEm?
Ans 1. 79

X2 7866

X3 80

X4 816

Question ID : 65497844655
Status : Answered
Chosen Option : 1

Q.25 v gFER HUN A W IS FU AT W 20% 3w Tew T ar & o geiw v g W 10% @
T & g1 3HH FloRra oTH FI e

Ans - X1 10%
2. 8%
X3 10.5%
X 4. 99,

Question ID : 65497843528
Status : Answered
Chosen Option : 2

Section : English Comprehension

Q.1 Select the most appropriate synonym of the given word.
Inscrutable
Ans X 1. Inevitable
X 2. Indelible
</ 3. Inexplicable
X 4. Incredible

Question ID : 65497842960
Status : Answered
Chosen Option : 2




Q.2 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. The interest rates offered depends on the bank, deposit amount and the tenure you

choose.

B. It not only helps you to save money but also helps you to earn a substantial interest
on it.

C. One of the best ways to secure your money is by investing in fixed deposits.

D. Under the fixed deposit scheme, the depositor deposits the money only once at the

time of opening the account.

Ans X 1.ADCB
X 2.ACBD
X 3.CABD
7 4. CDBA

Question ID : 65497844473
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate option to fill in the blank.

Are you looking forward
Ans X 1.tobe seeing

Nikhil again?

/ 2.to seeing
X 3.tosee
& 4. seeing

Question ID : 65497842665
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate ANTONYM of the given word.

Prey
Ans X 1. Loot
X 2. Sufferer
X 3.Game
«/ 4. Predator

Question ID : 65497842759
Status : Answered
Chosen Option : 2

Q.5 Select the option that expresses the given sentence in reported speech.

She said, “It is too good to be true.”
Ans 7 1. She said that it was too good to be true.

X 2. She said it were too good to be true.
/< 3. She is saying that it is too good to be true.
/< 4. She says that it is too good to be true.

Question ID : 65497844066
Status : Answered
Chosen Option : 1




Q.6 The following sentence has been divided into parts. One of them may contain a
grammatical error. Select the part that contains the error from the given options. If you
don’t find any error, mark ‘No error’ as your answer.

Antique diamond necklace / was stolen / from the museum.
Ans X 1.was stolen

X 2. No error
X 3. from the museum

«/ 4. Antique diamond necklace

Question ID : 65497842338
Status : Answered
Chosen Option : 1

Q.7 Select the INCORRECTLY spelt word.
Ans X 1.Hasten

/ 2. Whitan
/< 3. Enlighten
/< 4. Brighten

Question ID : 65497842967
Status : Answered
Chosen Option : 2

Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

This is / too grave sin / to be / pardoned.
Ans X 1.Thisis
«/ 2. too grave sin
& 3. pardoned
X 4.tobe

Question ID : 65497842945
Status : Answered
Chosen Option : 2

Q.9 Select the option that expresses the given sentence in passive voice.

He opened the door for his mother.
Ans X 1. The door was open by him for his mother.

/% 2. The door had been opened by him for his mother.
/< 3. The door is opened by him for his mother.

/4. The door was opened by him for his mother.

Question ID : 65497844462
Status : Answered
Chosen Option : 4




Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

Showing great attention to detail and correct behaviour
Ans X 1. Disciplined

” 2. Punctilious
X 3. Punctual
X 4. Zealous

Question ID : 65497842663
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The investigation revealed that both of they had given false information to obtain
the certificates.

Ans X 1. No substitution required
& 2. reveals that how they both
«/ 3. revealed that both of them
X 4. reveal that them both

Question ID : 65497844472
Status : Answered
Chosen Option : 4

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

A fictional being from another world
Ans X 1. Foreigner

/ 2. Alien
/< 3. Stranger
X 4. Native

Question ID : 65497842965
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate ANTONYM of the given word.
Optional
Ans X 1. Elective
X 2. Arbitrary
/ 3. Compulsory
& 4. Voluntary

Question ID : 65497844073
Status : Answered
Chosen Option : 3




Q.14 Select the correct active voice of the given sentence.

The poems of great English poets are being translated into other languages.
Ans X 1. They were translating the poems of great English poets into other languages.

#5 2. They translated the poems of great English poets into other languages.
< 3. They are translating the poems of great English poets into other languages.

/< 4. They have translated the poems of great English poets into other languages.

Question ID : 65497842948
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate meaning of the given idiom.

On the wane
Ans X 1.0Ontherise

#< 2. On the way
< 3. On the top
/4. On the decline

Question ID : 65497844075
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate synonym of the given word.

FLUKE
Ans X 1. Contract

./ 2. Chance

< 3. Policy
X 4.Plan

Question ID ;: 65497844474
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate meaning of the given idiom.

A long shot
Ans X 1.A perfect aim

«/ 2. Little chance of success
X 3. Very profitable

X 4. A correct prediction

Question ID : 65497842761
Status : Answered
Chosen Option : 3




Q.18 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required’.

| have been wondering at taking skating as a hobby.
Ans X 1. No improvement required

X 2. on taking to

«/ 3. about taking up

X 4. totake up

Question ID : 65497842754
Status : Answered
Chosen Option : 4

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

She persisted / to doing / what she wanted / despite opposition.
Ans X 1.what she wanted
/< 2. despite opposition
«~ 3. todoing
< 4. She persisted

Question ID : 65497844057
Status : Answered
Chosen Option : 3

Q.20 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The unseasonal rain/ caused a lot of damage/ to the crops.
Ans 7 1. No error
X 2. The unseasonal rain
/< 3.to the crops

X 4. caused a lot of damage

Question ID : 65497843449
Status : Answered
Chosen Option : 3




Q.21
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1) age, she displayed a
brilliant mind and a (2) personality. Her great exuberance for learning

(3) her to study further. However, she became (4) when she
learned that the university was closed (5) women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 21

Select the most appropriate option to fill in blank no. 1.

X 1. infant

W/ 2. early
/< 3. ignorant

X 4. young

Question ID : 65497842647
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1) age, she displayed a
brilliant mind and a (2) personality. Her great exuberance for learning

(3) her to study further. However, she became (4) when she
learned that the university was closed (5) women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans

X 1. bruised
X 2. bloated
7 3. blithe
X 4. brutal

Question ID : 65497842648
Status : Answered
Chosen Option : 3




Q.23
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1) age, she displayed a
brilliant mind and a (2) personality. Her great exuberance for learning

(3) her to study further. However, she became (4) when she
learned that the university was closed (5) women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 23
Select the most appropriate option to fill in blank no. 3.

#< 1. proposed
«/ 2. prompted
< 3. promised
/X 4. projected

Question ID : 65497842649
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1) age, she displayed a
brilliant mind and a (2) personality. Her great exuberance for learning

(3) her to study further. However, she became (4) when she
learned that the university was closed (5) women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans

< 1. disfigured
X 2. dishevelled
« 3. disgruntled
/< 4. distinguished

Question ID : 65497842650
Status : Answered
Chosen Option : 2




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1) age, she displayed a
brilliant mind and a (2) personality. Her great exuberance for learning
(3) her to study further. However, she became (4) when she
learned that the university was closed (5) women. Determined to receive a
higher education, she joined a French university.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans X 1.by

W 2.to
X 3.at
X 4. from

Question ID : 65497842651
Status : Answered
Chosen Option : 4




